
 Price list for solar 
mounting 
valid from 17 July 2025 

 
  



 
P.G. Group sp. z o.o.  

55-080 Nowa Wieś Wrocławska  
st. Relaksowa 41 

www.pggroup.com.pl 
pv@pggroup.com.pl 

+48 71 316 93 01 
 

PHOTOVOLTAIC STRUCTURES 
 

 Name Unit Net price 

1. UNIVERSAL STRUCTURE – SEGMENT V2X1 pcs. 580,78 zł 

2. UNIVERSAL STRUCTURE – SEGMENT V2X2 pcs. 675,36 zł 

3. UNIVERSAL STRUCTURE – VERTICAL BIFACIAL V2X1 pcs. ask for a quote 

4. INVERTER STRUCTURE pcs. 365,34 zł 

5. DOUBLE CARPORT pcs. 14 000,00 zł 

6. SINGLE CARPORT pcs. 11 000,00 zł 

7. SEALED DOUBLE CARPORT pcs. 16 000,00 zł 

8. SEALED SINGLE CARPORT pcs. 12 500,00 zł 

9. MULTI-CARPORT pcs. ask for a quote 

 
CONSTRUCTION ELEMENTS – FLAT ROOFS 

 

 Name Unit Net price 

1. SHORT BASE L=1333; pcs. 21,62 zł 

2. EAST-WEST BASE L=2189 pcs. 41,50 zł 

3. EAST-WEST BASE L=2745 pcs. 67,80 zł 

4. LONG BASE L=1510 pcs. 24,65 zł 

5. LONG ARM L=1090 pcs. 22,48 zł 

6. LONG ARM L=1333 pcs. 28,13 zł 

7. SHORT ARM L=330 pcs. 5,36 zł 

8. TELESCOPE L=305 pcs. 5,24 zł 

9. WELDED BASE FOR SUPPORT L=400 pcs. 15,96 zł 

10. OMEGA FOR SUPPORT L=250 pcs. 17,58 zł 

11. CLAMP FOR WELDED BASE pcs. 4,98 zł 

12. CONNECTOR FOR SUPPORT L=456 pcs. 10,30 zł 

13. PLATE L=2380 pcs. 36,74 zł 

14. PLATE L=2050 pcs. 31,62 zł 

15. WIND BRACKET L=2200 pcs. 27,83 zł 

16. WIND BRACKET L=2430 pcs. 31,29 zł 

17. SBS SUPPORT LARGE L=2984 pcs. 45,88 zł 

18. SBS SUPPORT SMALL L=2800 pcs. 43,09 zł 

 
 
 

http://www.pggroup.com.pl/
mailto:pv@pggroup.com.pl


 
P.G. Group sp. z o.o.  

55-080 Nowa Wieś Wrocławska  
st. Relaksowa 41 

www.pggroup.com.pl 
pv@pggroup.com.pl 

+48 71 316 93 01 
 

 
CONSTRUCTION ELEMENTS – PITCHED ROOFS 

 

 Name Unit Net price 

1. NON-ADJUSTABLE ROOF TILE HOLDER S 30/470 pcs. 16,31 zł 

2. NON-ADJUSTABLE SHINGLE HOLDER 25/225 pcs. 10,50 zł 

3. NON-ADJUSTABLE CARP TILE HOLDER 137/300 pcs. 30,93 zł 

4. NON-ADJUSTABLE HANDLE, CARP TILE 30/380 pcs. 16,51 zł 

5. DOUBLE ADJUSTABLE HANDLE, ROOF TILE 130 pcs. 24,48 zł 

6. DOUBLE ADJUSTABLE HANDLE, ROOF TILE 150* pcs. 25,98 zł 

7. TRIPLE ADJUSTABLE HANDLE, ROOF TILE 130 pcs. 28,79 zł 

8. TRIPLE ADJUSTABLE ROOF TILE 150* pcs. 30,82 zł 

9. STANDING SEAM HOLDER pcs. 14,63 zł 

10. ADJUSTABLE ROOF TILE S 30/470 pcs. 19,03 zł 

11. ADJUSTABLE SHINGLE 25/225 pcs. 12,05 zł 

12. ADJUSTABLE HANDLE FOR CARP TILE 30/380 pcs. 17,77 zł 

13. TRAPEZOIDAL BRIDGE 40 WITH EPDM L=330 pcs. 14,35 zł 

14. TRAPEZOIDAL BRIDGE 70 WITH EPDM L=330 pcs. 18,64 zł 

15. TRAPEZOIDAL BRIDGE 70 WITH EPDM L=400 pcs. 18,64 zł 

16. MOUNTING ADAPTER FOR A2 DOUBLE THREAD pcs. 2,73 zł 

17. M10/250 DOUBLE THREAD SCREW pcs. 8,09 zł 

18. M10/300 DOUBLE THREAD SCREW pcs. 10,13 zł 

 
 ALUMINIUM PROFILES 

 

 Name Unit Net price 

1. MOUNTING PROFILE 40X40/2500 pcs. 43,09 zł 

2. MOUNTING PROFILE 40X40/3300 pcs. 63,09 zł 

3. MOUNTING PROFILE 40X40/4400 pcs. 84,12 zł 

4. MOUNTING PROFILE 40X40 – OTHER LENGTHS pcs. ask for a quote 

5. MOUNTING PROFILE 40X40 BLACK pcs.  ask for a quote 

6. UNIVERSAL CAP 40X40 BLACK pcs. 2,20 zł 

7. UNIVERSAL CAP 40X40 GREY pcs. 2,20 zł 

8. CONNECTOR FOR MOUNTING PROFILES 40X40 SILVER pcs. 2,90 zł 

 
 
 

http://www.pggroup.com.pl/
mailto:pv@pggroup.com.pl


 
P.G. Group sp. z o.o.  

55-080 Nowa Wieś Wrocławska  
st. Relaksowa 41 

www.pggroup.com.pl 
pv@pggroup.com.pl 

+48 71 316 93 01 
 

 
JOINT ELEMENTS 

 

 Name Unit Net price 

1. BI-METAL ROOFING NUT A2/CV 6X25 WITH EPDM (100 
PCS/PACK) 

pcs. 179,50 zł 

2. SQUARE NUT M8 ST/A2 pcs. 1,52 zł 

3. SQUARE NUT M8 DIN557 A2 pcs. 0,28 zł 

4. HEXAGON FLANGE NUT WITH SERRATIONS M10 
DIN6923 A2 

pcs. 0,41 zł 

5. HEXAGON NUT M8 DIN934 TZN pcs. 0,30 zł 

6. HEXAGON NUT M10 DIN934 TZN pcs. 0,55 zł 

7. GALVANIZED WASHER M8 DIN9021 TZN pcs. 0,40 zł 

8. GALVANIZED WASHER M10 DIN9021 TZN pcs. 0,78 zł 

9. PIN 8x100 DIN 1443 OC KBS pcs. 3,60 zł 

10. SOCKET HEAD CAP SCREW M8X25 DIN912 A2 pcs. 0,58 zł 

11. SIX-SIDED SCREW M8X30 DIN912 A2 pcs. 0,58 zł 

12. SIX-SIDED SCREW M8X35 DIN912 A2 pcs. 0,75 zł 

13. SIX-SIDED SCREW M08X20 DIN933 TZN pcs. 0,75 zł 

14. SIX-SIDED SCREW M08X25 DIN933 TZN pcs. 0,85 zł 

15. HEXAGON SCREW M10X20 DIN933 A2 pcs. 0,91 zł 

16. HEXAGON SCREW M10X20 DIN933 TZN pcs. 0,80 zł 

17. HEXAGON SCREW M10X25 DIN933 A2 pcs. 0,97 zł 

18. HEXAGON SCREW M10X25 DIN933 TZN pcs. 0,87 zł 

19. HEXAGON BOLT M10X30 DIN933 A2 pcs. 1,01 zł 

20. HAMMER BOLT M8x40 A2 pcs. 1,50 zł 

21. SELF-DRILLING SCREW OC 5.5x22 WITH EPDM (200 
PCS/PACK) 

pack 61,75 zł 

22. SLIDING KEYWAY WITH BALL M8 AL. pcs. 0,81 zł 

23. SPRING WASHER OC KBZ pcs. 1,13 zł 

24. ROUND TELESCOPIC SLEEVE GOK - RAWPLUG - 
VARIOUS SIZES 

pack ask for a quote 

25. DRILLING SCREW 4.8MM TX25 - RAWPLUG - VARIOUS 
SIZES 

pack ask for a quote 

26. CONCRETE SCREW 6.1MM - RAWPLUG - VARIOUS SIZES pack ask for a quote 

27. FLANGED NUT WITH TEETH M8 DIN 6923 A2 pcs. 0,33 zł 

 

http://www.pggroup.com.pl/
mailto:pv@pggroup.com.pl


 
P.G. Group sp. z o.o.  

55-080 Nowa Wieś Wrocławska  
st. Relaksowa 41 

www.pggroup.com.pl 
pv@pggroup.com.pl 

+48 71 316 93 01 
 

 
 ADDITIONAL ELEMENTS 

 

 Name Unit Net price 
1. END CLAMP 30 BLACK pcs. 2,54 zł 

2. END CLAMP 30 NATURAL pcs. 2,54 zł 

3. END CLAMP 32 BLACK pcs. 2,54 zł 

4. END CLAMP 32 NATURAL pcs. 1,14 zł 

5. END CLAMP 33 NATURAL pcs. 3,60 zł 

6. END CLAMP 35 BLACK pcs. 2,54 zł 

7. END CLAMP 35 NATURAL pcs. 1,14 zł 

8. END CLAMP 40 BLACK pcs. 2,54 zł 

9. END CLAMP 40 NATURAL pcs. 3,60 zł 

10. END CLAMP 30, 4mm BLACK  pcs. 4,90 zł 

11. END CLAMP 30, 4mm NATURAL pcs. 2,90 zł 

12. END CLAMP 33, 4 mm NATURAL  pcs. 2,90 zł 

13. END CLAMP 35, 4 mm NATURAL  pcs. 3,00 zł 

14. MIDDLE CLAMP 4 mm BLACK pcs. 4,90 zł 

15. MIDDLE CLAMP 4 mm NATURAL pcs. 2,60 zł 

16. UNIVERSAL MIDDLE CLAMP BLACK pcs. 2,54 zł 

17. UNIVERSAL MIDDLE CLAMP NATURAL pcs. 2,54 zł 

18. SBR VIBRATION ISOLATION RUBBER 3X100 (15 MB ROLL) pcs. 58,08 zł 

19. GROUNDING WASHER pcs. 0,88 zł 

20. U-TYPE EDGE GASKET (3 MB) pcs. 35,00 zł 

21. END CAP FOR EDGE GASKET pcs. 1,18 zł 

22. TRIPOD FOR CONCRETE POLES (LEGS) pcs. 722,00 zł 

 

http://www.pggroup.com.pl/
mailto:pv@pggroup.com.pl

